B
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fRRR

FPok | 4Rk | BESR | % | 8B | B2 | 1E | 7 | | B | R
R TEE) =
1 —“Ff | 4 |50z |50.4|56.4(63.8{72.9]|78.8|86.5| 89 | 91
2 “Hf | 5 |#tOmw|55.2(50.7[71.5|54.5]|63.7]|83.8|77.7| 85
3 “Hf | 7 |mO=| 63 |57.6|77.5|69.5|706| 83 | 88 | 74
4 —Hf | 21 | 2207 |58.1| 62 [75.8]166.2] 85 |90.4| 88 | 92
5 —Ff | 23 | mOF [41.7| 53 [51.4(62.5]82.9|95.3|89.3| 79
6 —¥f | 24 |3O®E|66.3| 67 [65.2]56.4]83.8|87.1| 85 | 92
7 —FF | 25 | #0O4y|58.8(56.3(76.4(64.6]|85.5(|88.7| 92 | 89
8 —Hf | 29 | 2208 | 76.5(58.6[80.2|76.3]84.9]|86.7| 90 | 89
9 =FF | 1 |20 [615(51.2(54.9(|61.7|77.7| 80 | 85 | 90
10| =9F | 9 |#OE |76.7]|59.1|645|56.6| 77 | 82 | 87 | 88
11 | =¥F | 10 | #OJr |45.9|41.6|54.1| 55 |77.7(81.5(87.7|72.5
12 | =9F | 12 | skO%k | 55.7|56.1|66.1|58.3|] 80 [83.5| 87 | 73
13 | =9F | 14 | @O | 47 |54.5|49.3| 53 |73.7| 79 [86.3]85.5
14 | =¥ | 31 | 50 | 62 |39.3|60.2|56.5] 81 | 84 | 85 | 725
15 | Ut | 1 |3EOm [53.4(32.6|76.4(58.2|70.7| 84 | 90 |72.5
16 | OPE | 5 | &0 |67.7]|55.8|61.8|57.3]69.8(82.3]83.6|80.6
17 | wupr | 7 |0 [61.5(32.3|71.9(64.2|66.1(82.6| 77 |83.9
18 | muEF | 9 | =O=|63.2159.8(49.2| 51 |77.2]|825(87.9|71.4
19 | pupr | 11 | mOf | 59 |65.5|70.5(64.3|70.6(85.9| 75 |78.5
20 | DUpE | 22 | #po | 75.3|37.5|74.1(166.8|83.6|87.1]/90.1|91.7
21 | Pupt | 23 | O | 71.4|44.8|725(67.4| 83 |90.2|84.6|92.8
22 | DUBE | 24 | mios | 77.6|46.8|77.2(71.2| 84 |85.3|84.7|88.5
23 | DUupt | 27 | 40%|79.1147.3(81.9(81.4|86.8|84.5|79.7|90.2
24 | Dupt | 31 | =0=183.7|47.5(78.9(66.9|82.3(88.3|78.3|90.5
25 | PUBt | 33 |10 | 70.4|31.9(64.7(60.8|84.3(86.8{84.5| 91
26 | FHPF | 7 |#o=| 38 |25.9(40.3| 35 |83.9|75.5|86.5|67.5
27 | FHIF | 10 | =0r |53.9|27.3(53.9(42.8|81.7|745]| 91 | 725
28 | FHPF | 14 | ®0OE | 66.9|50.8(68.2(67.8]86.2| 86 |93.7| 74
29 | FHIF | 22 | %O | 80.9|48.4(70.1(66.9|89.2| 84 | 95 | 91
30 | FHFF | 23 [ #O% | 81 |58.7|74.3[75.1]188.8|84.5]| 94 | 94
31| ~FF| 2 |#mOop |76.3]60.9]|70.1|{57.9]/91.9|86.5|86.7|89.7
32| | 7 |[BO=|709(32.4(74.1(59.4]83.8|84.4]|81.3|83.1
33| ~FF | 10 [ mO# | 60.2|40.2(64.2[43.8|77.6|83.3| 88 |68.6
34 | <FF | 12 [ =0 | 66 |36.6(66.6[54.3|89.1|85.6| 88 | 84
35 | 5FF | 13 |20 |61.2| 43 [66.5[52.1]80.1|825]| 83 |71.9
36 | NHF | 22 | #0%|76.4|56.9(755(69.5| 93 |84.5| 87 |89.8
37 | ~FF | 23 | =mOo#e|85.2(53.8(74.8(62.7]82.1/83.9/88.3|82.9
38 | ~FF | 24 |30 |80.6(37.8(725| 52 |89.6|87.7|90.7 | 86.7
39 | <FE | 29 [0z 82 |73.3| 74 [59.5]90.4| 90 |90.7|87.6
40 | <FF | 30 | 0% | 73.6(53.6(74.9|65.1]92.1(90.1(89.3(83.9
41 | 9 | 4 |#®O=&| 59 [64.9(72.3|56.2|83.5(80.5| 91 | 84
42 | £Fr | 8 | 2O [66.2(56.8(62.1/61.9|85.6| 84 [93.3(89.5
43 | E¥HE | 25 | ¥O® |57.7| 57 |51.3|45.8]|85.2| 74 |86.7|86.5
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90 | +5PF| 28 | 0% | 84.7(56.784.8(80.7|91.7| 85 |90.7| 89
91 | +t¥E| 1 |:mOm:| 60 |515|64.4(452] 81 | 89 [77.3] 92
92 | +tHF| 2 | MmOty [63.4]60.8{61.9(58.3]825| 81 [91.3| 91
93 | +t¥E| 3 | 0= [59.7|555]71.7| 57 |80.5| 86 [90.7| 92
94 | +tFF| 4 | 508 |52.444944.3(39.1| 78 |76.5] 82 | 91
o5 | +tFf| 5 | &0 |59.9|554| 54 [465| 85 | 88 |78.7| 92
96 | +tHF| 9 | FOm | 66 |60.2(64.8(49.8]79.7|85.5(80.7| 92
97 | +t¥E| 10 | BOwK [59.8]50.9|57.1[(50.1]86.5| 90 [86.3]| 91
98 | +tHf| 12 | Ok [71.4]|53.6|67.4(60.6|78.7|88.5| 91 | 91
99 | +t¥F| 21 | =0 |60.3] 62 | 53 [51.4]835| 85 | 79 | 92







